








Polskie kwiatyq=85

S.

A.

T.

B.






Śpie
śe
Śie

mf

wa
by
wa

 
-
-
-

ci
tak
ci

o
je
o

 
bcy

szcze
bcy


-
-
-

wiatr,
raz

wiatr,


za
u
tu

chwy
jrzeć

ła

 
-
-
-

ca
o

czy

-

-

wie
jczy
los

 
-

lki
sty
cię


-
-

świat,
las,
gna


a
po
hen

f

se
la

gdzieś

 
-

rce
i

po


- tę

łą
świe


skni;
ki;
cie;


-
-
-


m

p

  
m

  
hen
po
a

mf

gdzieś
la
se

 
-

po
i

rce


-

świe
łą
tę


cie;
ki;

skni;


-
-
-





m

p   
m

    

hen
po
a

mf

gdzieś
la
se

 
-

po
i

rce


-

świe
łą
tę



cie;
ki;

skni;



-
-
-


m

p
śpie
Ŝe
śpie


wa
by
wa

-
-
-

o
je
o

 
bcy

szcze
bcy


-
-
-

wiatr
raz
wiatr

  

hen
po
a

mf

gdzieś
la
se

 

-
po
i

rce


-

świe
łą
tę



cie;
ki;

skni;



-
-
-

6

S.

A.

T.

B.






bo
i

za

mf

gdzieś
do

bierz

 

-

da
ma
ze

le
tczy
so

 
-
-

ko
nych
bą


-

-

stąd
rąk

w świat,


zo

przy
za

stał
nieść
bierz

 
-
-
-

o
z zie
z ro

jczy
lo
dzi

 
-

-
-

sty
nych
nnych


-

-
dom,
łąk

stron


tam
ro
ma

f

jest
zkwi

ły

 
-
-

naj
tłe
bu


-

pię
pą
kie


-

-

kniej!
ki.
cik!


-
-
-


m

p

  
m

  
ma
ro

tam

mf

ły
zkwi
jest

 

-
-

bu
tłe
naj


-

kie
pą
pię


-

-

cik!
ki.

kniej!

  
-
-
-





m

p   
m

    

ma
ro

tam

mf

ły
zkwi
jest

 

-
-

bu
tłe
naj


-

kie
pą
pię



-

-

cik!
ki.

kniej!

 
-
-
-


m

p
bo
do
za


da
ma

bierz-

le
tczy
z so

 
-
-

ko
nych
bą


-

-

stąd
rąk
w świat

  

ma
ro

tam

mf

ły
zkwi
jest

 

-
-

bu
tłe
naj


-

kie
pą
pię



-

-

cik!
ki.

kniej!



-
-
-



11

S.

A.

T.

B.





 f
Tam
Bo

Weź


wła
na
z tą


śnie
jpię
pio


-
-

te
knie
se


-
-

raz
jsze
nką


-
-
-


ro
są
bu


zkwi
po
kie


-

-

tły
lskie
cik


-

-
-

kwia
kwia
kwia


ty:
ty:

tów:


-
-
-


sto
sto
sto


kro
kro
kro


-
-
-

tki,
tki,
tek,


-
-
-

fio
fio
fio

mf

łki,
łki

łków,

 
-
-

-

ka
ka
ka

cze
cze
cze


-
-
-

ńce
ńce
ńcy

 
-
-
-

i
i
i

ma
ma
ma

 
ki.
ki.

ków.


-
-
-

 f

Weź
Bo

Tam


z tą
na
wła


pio
jpię
śnie


-
-

se
knie
te



-
-

nką
jsze
raz



-
-
-



bu
są
ro



kie
po

zkwi



-

-

cik
lskie
tły



-
-
-

kwia
kwia
kwia



tów:
ty:
ty:



-
-
-



fio
fio
fio

mf

łków,
łki
łki,

 
-
-
-

ka
ka
ka

cze
cze
cze



-
-
-

ńcy
ńce
ńce

  
-
-
-

i
i
i

ma
ma
ma

 

ków.
ki.
ki.



-
-
-





Tam
Bo

Weź

f

 
wła
na
z tą


śnie
jpię
pio


-
-

te
knie
se



-
-

raz
jsze
nką


-
-
-


kwia
kwia
kwia


ty:
ty:
tów:


-
-
-



fio
fio
fio

mf

łków,
łki
łki,

 

-
-
-

ka
ka
ka

cze
cze
cze



-
-
-

ńcy
ńce
ńce

 

-
-
-

i
i
i

ma
ma
ma

 

ków.
ki.
ki.



-
-
-



Weź
Bo

Tam

f

z tą
na
wła



pio
jpię
śnie


-
-

se
knie
te



-
-



nką
jsze
raz



-
-
-

 
kwia
kwia
kwia

 
ty:
ty:
tów:


-
-
-

 

fio
fio
fio

mf

łków,
łki
łki,

 

-
-
-

ka
ka
ka

cze
cze
cze



-
-
-

ńcy
ńce
ńce

 

-
-
-

i
i
i

ma
ma
ma

 

ków.
ki.
ki.



-
-
-









18

S.

A.

T.

B.





 ff
Pod


po


lskim


- nie


bem


-


w szcze


rympo


lu

 
- wy ro

 
- sły


-


o


jczy


- ste


-

 ff
Pod


po


lskim


- nie


bem


-


w szcze


rympo


lu

 
- wy ro

 
- sły


-







Pod

ff

 
po


lskim


- nie


bem


-


ro


sły


-




Pod

ff 
po


lskim


- nie

 
bem


-

 
ro

 
sły


-

 

23 















1. 























2.

S.

A.

T.

B.






kwia


ty


-


W ich


u ro


- dzie,

 
- za pa


- chu

 
- jest Po

 
lska.


- pa chu

 
- jest Po

p

 
lska.


-


kwia


ty


-

 
W ich


u ro


- dzie,

 
- za pa


- chu

 
- jest Po

 
ska


- pa chu

 
- jest Po

p

  
lska


-





kwia

 
ty


-

 
Po

ff

ska

    
-


Po

p


lska


-


kwia


ty


-

 
Po

ff
ska


-


Po

p
lska


-

2


